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APARTHEID SECTION

ASK EVERYONE - WATCH QUOTAS: MALE/FEMALE

i. As you may know, the majority of people in South Africa are black
but the country is ruled by a white minority government which
practises the policy of Apartheid, a policy which treats people
differently according to their race and colour, The Canadian
Government has taken a number of actions to persuade South Africa
to end Apartheid.

How familiar would you say you are with what the Canadian
Government has done in response to the situation in South Africa?
Would you say You are ? [READ LIST AND CIRCLE ONE
MENTION ONLY)

- Very familiar ——-we-——=-=-1
Somewhat familiar ==-—=-=-- 2
Not very familiar =----==-=- 3
Not at all familjar =----- 4

2. Based on what you have seen, read or heard do you believe that
Canada ? [READ LIST IN ROTATION ORDER INDICATED]

ROTATE XES HNO
[ ] Bans arms sales to Sout@ghtrica - : me——————— ] A
[ ] Discourages sporting contacts between Canadian and

South African athletes and teams ----=—w====-== 2 B
{ )} Gives financial and other assistance to victims

of Apartheid in South Africa -=-==----- e ————— -— 3 c
{ ] Bans loans to companies in South Africa ---—===--- ———————— 4 D

[ ] Gives financial aid to South African organizations
concerned about. Apartheid ===-----= ——————————————— -—————— S E

{ ] Pays the expenses of South Africans to come to
Canada to speak to Canadians about what is going

on in South Africa ———— - ————— F

[ ] Helps pay for the education of black Scuth
Africans in South Africa and in Canada ----- -—— —e————— 7 G
.3, A number of major countries have taken action to put pressure on

South Africa to end Apartheid. Based on what you may know about
the actlons of these countries, would you say that the actions
taken by Canada are 7 [READ LIST AND CIRCLE ONE
MENTION ONLY]

Much stronger =------ “em————]
Somewhat stronger ----- -—— 2
Abput as strong -========== j
Somawhat milder ------ ———— 4
Much milder —=-—==—=—-=- -———w 5§
4. I am going to read to you two points of view and I would like you

to tell ms which one best reflects your own. [READ IN ROTATION
CRDER INDICATED AND CIRCLE ONE MENTION ONLY].

ROTALE
[ ] Canada should have trade rastrictions against South Africa

in order to put pressure on the South African government to
abandon the system of Apartheid ----we—---- —m—————— “emmm——————— 1

{ ] Canada should not have trade restrictions against South Africa
because restrictions hurt the blacks more than the South
African Government - T - —w—m——e—mama 3




